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■ X，Y をそれぞれ V [X] > 0，V [Y ] > 0 をみたす確率変数とするとき，

V

[
X − E [X]

σ [X]
± Y − E [Y ]

σ [Y ]

]
を簡単にせよ．

（解） 期待値の線形性より

E

[
X − E [X]

σ [X]
± Y − E [Y ]

σ [Y ]

]
=

E [X − E [X]]
σ [X]

± E [Y − E [Y ]]
σ [Y ]

=
E [X] − E [X]

σ [X]
± E [Y ] − E [Y ]

σ [Y ]
= 0

であるから，

V

[
X − E [X]

σ [X]
± Y − E [Y ]

σ [Y ]

]
= E

[(
X − E [X]

σ [X]
± Y − E [Y ]

σ [Y ]

)2
]

=E

[
(X − E [X])2

σ [X]2

]
± 2E

[
(X − E [X]) (Y − E [Y ])

σ [X] σ [Y ]

]
+ E

[
(Y − E [Y ])2

σ [Y ]2

]

=
E

[
(X − E [X])2

]
σ [X]2

± 2E [(X − E [X]) (Y − E [Y ])]
σ [X] σ [Y ]

+
E

[
(Y − E [Y ])2

]
σ [Y ]2

=
V [X]
V [X]

± 2
Cov [X,Y ]
σ [X] σ [Y ]

+
V [Y ]
V [Y ]

= 2 ± 2 ρ [X, Y ]

が得られる．
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